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Corrigé de I'exercice 1

Résoudre ’équation :

3z—-9 —5:U+2_7:U—7

4 6 3

Bx—9)x3 (=bz+2)x2 (Tz—T)x4

4><3 6><2 3><4

9z — 27— (=10 +4) 28x —28

¥z %
92 —274+10x —4 =28z — 28
192 — 31 =282 — 28

192 — 282 = —28 + 31
-9z =3
-3 -1

T=——= 7

9 3

La solution de cette équation est ——.

Corrigé de I'exercice 2

Résoudre ’équation :

—2xz+5 —3z+1 —8x —2
6 + 3 N 8
(=22 +5)xa  (B3x+1)xg (—8x—2)x3
_|_ g
6x4 3x8
—8x+20—24x+8 —24x—6
24 A

—-32x+28=-24x—6
—32zx+24x = —-6—28

—8x=-34
34 17
TTR T

8><3

La solution de cette équation est T
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Corrigé de I'exercice 3

Résoudre ’équation :

—10x+3 730—6_430—9

8 L I
(—10.%' +3)><3 n (7.%' — 6)><6 B (41‘ — 9)><8
8><3 4)(6 3><8
—30£C+9+42£C—36_ 32x — 72
24 oA

122 — 27 =322 — 72
122 — 3220 = —72+ 27

—20x = —45
45 9
YT 1

La solution de cette équation est 1

Corrigé de I'exercice 4

Résoudre 'équation :

6xz+1 7x2-9 —x+1

s TT1 T3
8><3 4><6 3><8
18x+3+42x — 54 —8x+8
24 A

60z — 51 =—-8x+8
60z +8x=8+51

68z = 59
59
r=—
68
. ) 59
La solution de cette équation est TR
Corrigé de I'exercice 5
Résoudre 'équation :
—Tx+7 —3z-7 —dx-2
6 3 9
(—71‘ + 7)><3 _ (—31‘ — 7)><6 B (—41‘ — 2)><2
6><3 3><6 9><2
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—2lz+21 — (—18x — 42) —8x —4
8 G
—2lx+214+ 18 +42=—-8x —4
—3r+63=—-8x—4
-3z +8x=—-4-63
S5xr = —67
— 67

r=——

5

— 67

La solution de cette équation est

Corrigé de I'exercice 6

Résoudre 'équation :
—9z+8 9r—4 x+42
3 76 4
(—91‘+8)><4+ 9z —4)x2  (T+2)x3
3><4 6><2 4><3
—36x+32+18x—-8 3x+6
V7 Y1
—18x+24=3x+6
—18x—3x=6—-24
—21lzx=-18
18

18 6
TTo1T T

La solution de cette équation est =

Corrigé de I'exercice 7

Résoudre ’équation :
r—5 4xr—1 8x+1
6 3 9
(r—=5)x3 (Ax—1)xg (8x+1)x2

6><3 3><6 9><2
3xr—15—(24z—-6) 16x+2
8 K

3z—15—-24x+6=16x+ 2
—2lz—9=16x+2
—2lx—16x=2+9
—37x =11

—11 —11
==

37 37

—-11

La solution de cette équation est
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Corrigé de I'exercice 8

Résoudre ’équation :

—9x+1 —2x 410 —zrz—4
3 T 8 &
(=9z + 1)X8+ (=2z +10)x3 _ (—x —4)x4
3x8 8x3 6xa
-T2z +8—-6x+ 30 —4x—16
21 P

—78x4+38=—-42—-16
-8z +4x=-16—38

~Tdz =54
B4 27
T3

La solution de cette équation est 37
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